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Q. If the ratio of cost and selling price of an article 1s 5:6, then

its profit percentage will be- UPSSC Exam

(a) 25 %
(b) 30 %
(c) 20 %
(d) 33 %
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Q. A mobile was sold by two mobile sellers at a total gain of 45%. If the first

seller sold 1t at a gain of 25%, then how much gain percentage did the second

seller achieve?
UP Exam Practice Ques.

(a) 20%
(b) 18%
(¢) 16%
(d) 14%




Q. Ffe Teh GHMER 450 FIT H Teh S sI=iell €, ST 600 FU o &9 H ffga &, i

T Tohc D¢ shT URToRIT L T&T 77
Q. If the shopkeeper sells an item at Rs. 450 which 1s marked at Rs. 600 ,

then what 1s the discount be 1s offering?
UP Exam Practice Ques.

(a) 33.33%
(b) 20%
(c) 25%
(d) 30%
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Q. A trader marks up his goods by 25%. If he allows 4% discount on

the marked price, what will be his profit percentage?

UPSSC Exam

(a) 10%
(b) 15%
(c) 20%
(d) 25%
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Q. A person buys 10 articles for Rs 8 and sells them at Rs 1.25

each. His percentage profit is-

UPSSC Exam

(a) 50%
(b) 56(1/4)%
(c) 20 %
(d) 19(1/2) %
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Q. Preeti sold a box for ¥ 1,440 at a loss of 30%. What should be the
selling price of the box for Preeti to make a profit of 26%?

UP Exam Practice Ques.

(a) T 2592
(b) T 2736
(c) T 2520
(d) ¥ 2664
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Q. A TV. was sold for Rs. 60,000 at a profit of 20%. For what price should
it have sold to gain a 30% profit? UP Exam Practice Ques.

(a) & 64,000
(b) T 65,000
(c) ¥ 50,000
(d) T 55,000




Q. T SIS ST o 3T 7o R forshar qer o off = o1 SfaX &, 1,200 31 3
™ 15% @, ar fosra ge &

Q. The difference between the cost price and selling price of a pair of

shoes 1s Rs. 1,200 . If the profit is 15%, the selling price is:

UP Exam Practice Ques.

(a) 8,200
(b) T 9,200
(c) % 8,000
(d) T 9,000
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Q. A desktop was bought for Rs 18,400 after getting a discount of 8% on
its marked price. What 1s the marked price of the desktop?

UP Exam Practice Ques.

(a) ¥ 20,500
(b) T 19,000
(c) ¥ 19,500
(d) % 20,000




912157 STATE 2023 _ o

Q. T TEHT 7 180 9T U Ush Tt Wilet 3TR oSt ahl shid 240 9T ifhd
1| AfS T8 =L T 40% BT T SAST &1 TATH AT BT AT T 41 2 2

Q. A man bought a watch for Rs 180 and mark the price of the watch at
Rs. 240. If he sells the watch at 40% discount. What 1s the profit or loss

percentage ?

UP Exam Practice Ques.

(a) 15% <T¥H/Profit
(b) 15% BT/ Loss
(c) 20% gT/Loss

(d) 20% ITH/Profit
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Q. A retailer buys a used laptop for ¥25,000. His overhead expenses are T 5000.
He sells the laptop for ¥ 48,000. The profit/loss percentage of the retailer 1s:

UP Exam Practice Ques.

(a) 50% <ITH/Profit
(b) 60% <TH/Profit
(c) 50% gTH/Loss
(d) 60% BTH/Loss
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Q. Shivam sold an article at a loss of 15%. Had he sold 1t for Rs. 56 more,

he would have gained 13%. At what price should he have sold it to gain

37.5% ? UP Exam Practice Ques.

(a) ¥ 275
(b) T 200
(c) ¥ 225
(d) ¥ 250
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